| R SEPNESNPE K -3 E VPP
Ak 3l =% 31

- BEEFRERIEFEER EEEETEL
o B3R, 3i8iE, B4
1. Which of the following is a positive economic statement?

(a) A minimum wage is good because it guarantees workers a decent living.
(b) A tax on the rich is bad because it discourages innovation and investment.
(c) A tax on the poor is not fair because the poor already have it hard enough.
(d) A cartel has an incentive to reduce its quantity and increase its price.

2. The market for diamond rings is closely linked to the market for high-quality diamonds.
If a large quantity of high-quality diamonds enters the market, then the

(a) supply curve for diamond rings will shift right, which will create a shortage at
the current price. Price will increase, which will decrease quantity demanded and
increase quantity supplied. The new market equilibrium will be at a higher price
and higher quantity.

(b) supply curve for diamond rings will shift right, which will create a surplus at the
current price. Price will decrease, which will increase quantity demanded and
decrease quantity supplied. The new market equilibrium will be at a lower price
and higher quantity.

{c) demand curve for diamond rings will shift right, which will create a shortage at
the current price. Price will increase, which will decrease quantity demanded and
increase quantity supplied. The new market equilibrium will be at a higher price
and higher quantity.

(d) demand curve for diamond rings will shift right, which will create a surplus at
the current price. Price will decrease, which will increase quantity demanded and
decrease quantity supplied. The new market equilibrium will be at a lower price
and higher quantity.

3. Suppose that Firms A and B each produce high-resolution computer monitors, but Firm
A can do so at a lower cost. Cassie and David each want to purchase a high-resolution
computer monitor, but David is willing to pay more than Cassie. Which of the following
market out-comes is efficient?

(a) Firm A produces a monitor that Cassie buys. David does not purchase a monitor.
(b) Firm B produces a monitor that Cassie buys. David does not purchase a monitor.
(c) Firm A produces a monitor that David buys.
(d) Firm B produces a monitor that David buys.

4. At present, the United States uses a system of quotas to limit the amount of sugar im-
ported into the country. Which of the following statements is most likely true?

(a) The quotas are probably the result of lobbying from U.S. consumers of sugar. The
quotas increase consumer surplus for the United States, reduce producer surplus
for the United States, and harm foreign sugar producers.

(b) The quotas are probably the result of lobbying from U.S. producers of sugar. The
quotas increase producer surplus for the United States, reduce consumer surplus
for the United States, and harm foreign sugar producers.
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(c) The quotas are probably the result of lobbying from foreign producers of sugar.
The quotas reduce producer surplus for the United States, increase consumer suz-
plus for the United States, and benefit foreign sugar producers.

(d) US. lawmakers did not need to be lobbied to impose the quotas because total
surplus for the United States is higher with the quotas than without them.

5. Suppose that Company A's railroad cars pass through Farmer Bs corn fields. The rail-
road causes an externality to the farmer because the railroad cars emit sparks that cause
$1,500 in damage to the farmer’s crops. There is a special soy-based grease that the
railroad could pur-chase that would eliminate the damaging sparks. The grease costs
$1,200. Suppose that the rail-road is not liable for any damage caused to the crops.
Assume that there are no transaction costs. Which of the following characterizes the
efficient outcome?

(a) The railroad will continue to operate but will pay the farmer 1,500 in damages.

(b) The railroad will purchase the grease for s1,200 and pay the farmer nothing be-
cause no crop damage will occur. )

(c) The farmer will incur $1,500 in damages to his crops.

(d) The farmer will pay the railroad $1,200 to purchase the grease so that no crop
damage will occur.

6. Caterpillar has spent $5 million to date on a new plant, and another $2 million is needed
to complete the plant. When construction was started, it was projected that production
at the new plant would add $12 million to Caterpillar’s profit, but new projections show
the additional profit will be only $6 million. Assuming the incomplete plant is worth-
less, should Caterpillar complete the new plant or abandon it?

(a) Caterpillar should complete the plant because it would create a net profit of $4
million. ,

(b) Caterpillar should complete the plant because it would create a net profit of $1
million. _

(c) Caterpillar should abandon the plant because a $5 million loss is better than a $6
million loss.

(d) Caterpillar should abandon the plant because the plant costs $6 million more than
the expected profit.

7. Employers may choose to pay efficiency wages that are higher than the equilibrium wage
because

(a) workers will be more willing to accept monitoring by their employers.

(b) the threat of unemployment will help prevent workers from shirking.

(c} the higher compensation will encourage workers to take more risks.

(d) higher wages will attract only the most qualified workers and thus help solve the
employer’s adverse selection problem 2.

8. Suppose that the pizza business is a competitive, constant-cost industry. An increase in
demand for pizza, will, in the long-run lead to
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(a) an increase in price and industry output, but no increase in the output of existing
firms.

(b) no increase in price and an increase in industry output as each existing firm pro-
duces more.

(c) no increase in price, no increase in the output of existing firms but an increase in
industry output because of new firms.

(d) no changes in price, output of existing firms or the number of firms in the industry.

9. When a supplier imposes resale price maintenance on its dealers, social gain will in-
crease as long as

(a) the supplier chooses to charge a competitive price for its product.

(b) dealers are allowed to charge consumers less than the supplier’s recommended
retail price.

(c) dealers are able to enter and exit the industry costlessly.

(d) the value consumers receive from dealer services outweighs their cost.
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GDP REZE CPIKRZE K#EHE KRS GDP M

(a) 2.0% 1.6% 7-6% —2.8%
(b) —1.7% 1.6% 12.0% 0.1%
(c) 2.3% 1.4% 4.2% 10.9%
(d) 4.4% 1.9% 3.3% 6.7%
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(c) SHERFIZR;
(d) E=EAIERE.

3. EXRSEHNFRBR 1008, HEXHEGoETT, B ERAXHE0ET, FHEES
FHIHER
(a) 40BETT;
(b) 30ETT;
(c) 20E7T;
(d) 10ETTe

14. 2008 FERIFW < T, XA LB L BLER (quantitative easing) BUE, 558
B QE. it QE BURAIFEE:
(a) BURFBHEBRREUFEER;
(b) BUFREEIMBESHUREEE;
(c) RITRBEEEEHEAZRELRERR;
(d) FITRHREERIBESFZELFEER.
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(a) 1%;
(b} 3%;
(c) 5%;
(d) BRAE, EEsE,
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(a) THEANEEERENESR, ETi95 A GDP HRE;
(b) FHEMEBEFERRENESR, EFi95 \EBEEHRE:
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(d) BLEEFE,
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18. BARRR R, LT &R IERE:?
(a) FHAIARRIA L7y, SREVREEIE & T8
(b) BRFEHRBEA AR L7, REGTE;
(c) BEEBRFRRIRERRFITRE;
d) —&ME, RENEMEEEREEFE,
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(b) (443) WNRBUFH RS BRI 70 Bz A5 BEIBREEMEF T (carbon emission
permits). AETRBRIEBETRZ B2 5, BEAEKS BIBER S 2 = S0

(¢) (447) & (b), HEFEREHB RS TN X S EESM

(d) (453) Z& (b), W= RBBHES L RARRE SRR 7 (2) NES,
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2. (144}) Since the Fed’s main policy interest rate fell to near zero in December 2008 it
has deployed a complex array of “unconventional policies” to boost the economy. The
Federal Open Market Committee (FOMC) this week ... promised to keep adding $85
billion in bonds per month to a stash that has almost quadrupled to $3.4 trillion since
the beginning of the recession. It also pledged to keep short-term interest rates near
ZEro.

Bond markets are more preoccupied by what lies in the future. Since late April the yield
on ten-year Treasury bonds has leapt to more than 2.3% from 1.7%. Mortgage rates have
also jumped; riskier assets such as emerging-market stocks have fallen sharply. This
amounts to an effective tightening in monetary conditions, brought on by warnings
made by Mr Bernanke last month, and reinforced at his press conference this week,
that a “tapering” of the pace of asset purchases could get under way later this year,
(Economist, June 22, 2013)
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